CGPI 3921 SMG9 Tobacco-Outpt-Pts using tobacco every day or some days who were informed/offered cessation strategies (NEXUS_WT)
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HOSPICE (Pl module)
During the past year is there documentation in the medical
record the patient is enrolled in a VHA or community-based
hospice program?
Lo VES ¢—— Missing
2. No
TERMILL (Pl module)
Is one of the following documented in the medical record?
» The patient has a diagnosis of cancer of the liver,
pancreas, or esophagus
» On the problem list it is documented the patient’s life

expectancy is less than 6 months? < Missing
1. Yes
2. No
TOBSCRN18 (PI)
During the past year was the patient screened for tobacco
use by an acceptable provider using the National Clinical
Reminder for Tobacco Use?
1. Yes ¢—— Missing
2. No
98. Patient declined to answer National Clinical Reminder
for Tobacco Use screening questions
TOBSCRN1 (PI)
Enter the response to Tobacco Use Screening question #1
“Do you smoke cigarettes, or use tobacco every day, some
days, or not at all?” Missing
1. Every Day
2. Some Days
3. Notatall

TUCREFER2 (PI)

During the past year, did the provider provide information about behavioral
counseling or treatment options other than medication to assist patient with quitting
smoking or using tobacco using the National Clinical Reminder for Tobacco Use?
1. Yes

2. No
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